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A student multiplied a number byg iInstead of 3 -

What is the percentage error in the calculation ?

v faaeh 3 e e # g T F T R

% g 7on o T | dierem § 3 wfawa fema ® 2

(1) 44% (2) 34% 3) 54%  (4) 64%




The income of C is 20% more than B’s and the in-
come of B is 25% more than A's. Find by how much
per cent is C's income more than A's ?

C &l 3™ B &l 3 ¥ 20% 314F & 3R B H1 3™
AHI AT G 25% 31k & | C Rl I, A I T 9

oo gfaera sifees 2 2
(1) 150%  (2) 50% (3) 25%  (4) 35%




If 15% of (A + B) = 25% of (A - B), then what per cent
of B is equal to A?
If< (A+B) T 15% = (A-B) &1 25% &I, d B &1 TohdH

gfaed A & e E ?
(1) 10% (2) 60% (3) 200%  (4) 400%




In an election, three candidates contested. The first
candidate got40% votes and the second got 36% votes.
If total number of votes polled were 36000, find the

number of votes got by the 3rd candidate.

Tk A1 i G = IA1E ST Teet TIsit &l 40%
IR W HI 36% 7d foct| afs 7l +1 FH T==N 36,000
off a o gt =1 fovae wa fiaar 2

(1) 8040 (2) 8640 (3) 9360 (4) 9640




Price of milk has increased by 20%. To keep the ex-
penditure unchanged, the present consumption is to
be reduced by :

Y FT HIET 20% 98 TS S| T hl IA & W & o
a9 SUME | fohal wHET HET AN 2

(1) 20% (2) 18% (3) 10%  (4) 16 %




Arbind spends 75% of his income and saves the rest.

His income is increasesd by 20% and he increases
his expenditure by 10%. Then the increase in sav-
INgs In percentage is

IRfAS AT AT HT 75% ©@H Hdl & 3T W o= o
g1 STHT T | 20% gfg & 9H W, 98 9 @9 J 10%
F1 g T a1 T TETHR, IHH! a=d | fohaq gfavd Ifs
ISP

(1) 55% (2) 52% (3) 50% (4) 48%




If the numerator of a fraction is increased by 20%
and the denominator is decreased by 5%, the value

5

of the new fraction becomes 9 The original fraction is

afg fordt fa=1 & 39 o 20% =) gfg 3R SuH & H 5%

FI HA HL I WC, 9 T3 99 w1 AH gﬁrw%l

yRftees fa= @

24 3 95
(1) 19 (2) 18 (3) 18

48
95

(4)




The numerator of a fraction is increased by 20% and
denominator is decreased by 20%. The value of the

1

fraction becomes 5 The original fraction is

e 9 & A9 20% 9fg R G TE SR S ' U

20% HHT F & T B m:fmmm%%’rm%

TTER, g fa= @1 7 2

2 8 7
0 3 @ @17




The ratio of the number of boys and girls in a college
Is 3 : 2. If 20% of boys and 25% of girls are adults,
the percentage of those students who are not adults, is

fopdt hios o D AR SEEA &1 FqUE 3 : 2 Bl AR
BEI & 20% 91 BEIS & 25% T9%h ©, d S9 faandi
1 gfaeddr St aa%h 2l §, fFefafead 28—

(1) 58% (2) 67.5% (3) 78% (4) 82.5%




